
entity as a product 



Success factors for innovation 



Has right 
timing 

Access to 
markets 

Solves 
problem 



Mail 
Service 

CRM 

Website 
builder 

Online 
Storage 

SoMe 
Tools 

One company Many identities Even more services 

The use of many services 
increases number of login 
credentials/identities 
 
This leads to operational 
complexity and generates  
security risks 

Solves Problem - Dealing with operational complexity/security 



 

●  88% of users report being bothered by having to create new accounts on websites 
●  86% will leave a site before creating a new account  
●  92% will leave a site instead of resetting or recovering login  
●  40% use forgot password at least once a month 
●  77% reported that social login is „a good solution that should be offeredby any site“ 

 

   

 

 

 http://www1.janrain.com/rs/janrain/images/Infographic-How-to-Solve-the-Registration-Challenge.pdf 
https://conversionxl.com/blog/social-login/ 

 

●  Solving world peace would be easier than remembering all their passwords. 
●  Scrubbing the toilet would be better than coming up with a new password. 

40% of users feel 

Solves Problem - Users hate multiple logins 



https://www.gartner.com/smarterwithgartner/next-generation-trends-in-identity-and-
access-management/ 

Right timing - Future trends 



Right timing - Big Tech is losing trust 



Right timing - Regulation is on the horizon 



https://gac.icann.org/contentMigrated/gac-statement-on-dns-abuse 
https://www.verbraucherschutzministerkonferenz.de/
documents/ergebnisprotokoll-der-15-vsmk-am-24052019-in-
mainz_rlp-extern_1559902425.pdf 

German Customer Protection Ministry  ICANN GAC advice 

Right timing - New demands by Governments 



Right timing - Political support for Open Free Internet 

EU Open Internet Initiative EU Open Cloud Initiative 



Access to markets- Target SMBs in DE 



Access to markets- Existing great penetration of SMB market - DE  

DENIC 
~ 

80% 
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Potential 
Example DE 



25.000.000	
	
	
	



Rational	
	
2,6	Mio	SMB	Companies 	in	DE 	 	 	->	 	29	Mio	
Employees	
	
80%	SMB	Companies	in	DE 	 	 	-> 	25	Mio	
Employees	
	
1	Euro	Arpu	/	Identity	in	DE 	 	 	-> 	25	Mio	
Euro	
	
	
	
Not	considered	
	
Enterprises	
Consumers 		
Effects	on	domain	business	
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 Company Employees Applications  Identity Service 

Create/verifiy company ID  Issue employee IDs Use verified IDs 

$ $ $ $



Problem is there, Timing is good, Tec is available, Potential is big 
 

but  
 

We have to get the product right! 
 

To be relevant to SMBs and their Suppliers 

 
 


